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e | W4 A ks i & Ll AR Ll AR 5207 A BiUsist HiE
1 sykpk | 105642000005298 | A dv bl 2tk 086000 )52 4 Hil 83.40
2 FeEms [ 100552333309886 | vkl k24 086000 ) 5 2 4 Hil 93.00
3 fyb | 105592210012999 | A vkl 086000 ) 5 2 4 H 1] 76.80
4 ZErizE | 100552000102988 | ‘kfykl k24 p 086000 )5 2 4 Hil 90.00
5 Eizi | 100082210003264 | AEdykl ks 086000 ) 5 2 4 Hil 95.20
6 kiERE | 100552333305437 | vkl otz 086000 ) 5 R 2 4 H 1] 83.00
7 diH% | 104222510920209 | ZEdvkl 22245 086000 )52 4 Hil 77.60
8 ZkazE | 104222510920342 | A=kl 24k 086000 AW 5EH 4 1 il 78.20
9 fEdT | 104662010082074 | vkl 22kp 086000 Y5 E 2 4 H 1) 84.20

10 | A3 | 100552000102971 | “Edvkl 2224 086000 )52 4 Hil 78.40
11 20 | 144302068000243 | Akl 086000 ) 5 2 4 Hil 81.00
12 | xifkus | 104222510920182 | A= dyfl 2224k 086000 e S 2 4 H 74.60
13 | xigfi | 144302068000239 | ‘Eavkl 2t 086000 A5z 4= H il 86.60
14 | yjoxc A | 144302110000040 | & dvkl2E22 5 086000 ) 5 2 4 Hil 77.60
15 ¥4 | 100552333305448 | Akl 22tk 086000 Y5 E 2 4 H 1) 78.60
16 dIE | 100552333309881 | A=kl 22z 086000 )5 2 4 Hil 76.80
17 FiE | 100082210006197 | A=kl 222t 086000 ) 5 2 4 Hil 75.60
18 | #i3.0r | 100552333311012 | Akl 2224 086000 Y5 E 2 4 H 1] 69.20
19 A& | 144302110000162 | A fnfl 22k 086000 )52 4 Hil 69.00
20 | 4% | 100552333310914 | Akl 222k 086000 ) 5 2 4 Hil 0.00 e
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